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Aufgabe 1

Multipliziere schriftlich wie im Beispiel a).

a)

3 2 1 7 · 5 6 6
1 6 0 8 5

1 9 3 0 2
1 9 3 0 2

1 8 2 0 8 2 2
b) 4867·111 c) 8947·590 d) 5696·803

Aufgabe 2

Multipliziere schriftlich wie im Beispiel a).

a)

3 0 · 2 8
6 0
2 4 0
8 4 0 b) 79·56 c) 42·52 d) 98·91

Aufgabe 3

Multipliziere schriftlich wie im Beispiel a).

a)

2 7 6 · 5 8
1 3 8 0

2 2 0 8
1 6 0 0 8 b) 595·72 c) 160·18 d) 352·64

Aufgabe 4

Multipliziere schriftlich wie im Beispiel a).

a)

3 5 7 · 7 0
2 4 9 9

0 0 0
2 4 9 9 0 b) 280·50 c) 835·40 d) 631·80
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Viel Erfolg!
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